

Family of Smooth Solutions of Hyperbolic Differential-Difference Equation



Natalya V. Zaitseva

Abstract Three-parameter familie of solutions is constructed for hyperbolic differential-difference equation with shift operators of the general-type acting with respect to all spatial variables. We prove theorem showing that the solutions obtained are classical provided that the real part of the symbol of the corresponding differential-difference operator is positive. Classes of equations for which these conditions are satisfied is given.

Keywords Hyperbolic equation • Differential-difference equation • Classical solution • Shift operator • Operational scheme • Fourier transform

1 Introduction

Problems for elliptic differential-difference equations in bounded domains have been studied quite comprehensively by now; the theory for such equations was created and developed by Skubachevskii [1, 2]. Problems for elliptic differential-difference equations in unbounded domains have been studied to a much lesser extent. An extensive study of such problems is presented in Muravnik's papers [3–5]. In particular, boundary value problems for multidimensional elliptic differential-difference equations are considered in [3–5].

Problems for parabolic differential-difference equations were studied in Muravnik's monograph [6]. Vlasov and Medvedev [7] studied hyperbolic differential-difference equations for the case where the shift operators act on the time variable.

As far as the present author is aware, at present, there are few papers dealing with hyperbolic differential-difference equations containing shifts with respect to the spatial variable. In [8–10], families of classical solutions are constructed for hyperbolic equations with shifts in the space variable x ; the shifts occur in the potentials.

N. V. Zaitseva (✉)

Lomonosov Moscow State University, Moscow 119991, Russia

e-mail: zaitseva@cs.msu.ru

In the present paper, we study the existence of smooth solutions of hyperbolic differential-difference equation in the half-space $\{(x, t) | x \in \mathbb{R}^n, t > 0\}$. The equation contains a sum of differential operators and shift operators with respect to each of the spatial variables,

$$u_{tt}(x, t) = a^2 \sum_{j=1}^n u_{x_j x_j}(x, t) - \sum_{j=1}^n b_j u(x_1, \dots, x_{j-1}, x_j - h_j, x_{j+1}, \dots, x_n, t), \quad (1)$$

where a, b_1, \dots, b_n and h_1, \dots, h_n are given real numbers.

Definition 1 A function $u(x, t)$ is called a classical solution of Eq. (1) if the derivatives u_{tt} and $u_{x_j x_j}$ ($j = 1, \dots, n$) exist in the classical sense (i.e., as limits of finitedifference ratios) at each point of the half-space $\{(x, t) | x \in \mathbb{R}^n, t > 0\}$ and if Eq. (1) holds at each point of the half-space.

2 Construction of Solutions of Equation (1)

To find solutions of the equation, we use the classical operational scheme [11, Sect.10], whereby one formally applies the Fourier transform with respect to the n -dimensional variable x to Eq. (1),

$$\widehat{f}(\xi) = \int_{\mathbb{R}^n} f(x) e^{i\xi \cdot x} dx,$$

and passes to the dual variable ξ .

In view of the formulas [12, Sect. 9]

$$F_x[\partial_x^\alpha \partial_t^\beta f] = (-i\xi)^\alpha \partial_t^\beta F_x[f], \quad F_x[f(x - x_0)] = e^{ix_0 \cdot \xi} F_x[f],$$

for the function $\widehat{u}(\xi, t) := F_x[u](\xi, t)$ we obtain the initial value problem

$$\frac{d^2 \widehat{u}}{dt^2} = - \left(a^2 |\xi|^2 + \sum_{j=1}^n b_j \cos(h_j \xi_j) + i \sum_{j=1}^n b_j \sin(h_j \xi_j) \right) \widehat{u}, \quad \xi \in \mathbb{R}^n, \quad (2)$$

$$\widehat{u}(0) = 0, \quad \widehat{u}_t(0) = 1. \quad (3)$$

For convenience, in the subsequent calculations we use the notation

$$\alpha(\xi) := \sum_{j=1}^n b_j \cos(h_j \xi_j), \quad \beta(\xi) := \sum_{j=1}^n b_j \sin(h_j \xi_j).$$

Then Eq. (2) becomes

$$\frac{d^2 \widehat{u}}{dt^2} = -(a^2 |\xi|^2 + \alpha(\xi) + i \beta(\xi)) \widehat{u}, \quad \xi \in \mathbb{R}^n,$$

and the roots of the corresponding characteristic equation are determined by the formula

$$k_{1,2} = \pm i \sqrt{a^2 |\xi|^2 + \alpha(\xi) + i \beta(\xi)} = \pm i \rho(\xi) e^{i \varphi(\xi)},$$

where

$$\rho(\xi) := \left[(a^2 |\xi|^2 + \alpha(\xi))^2 + \beta^2(\xi) \right]^{1/4}, \quad (4)$$

$$\varphi(\xi) := \frac{1}{2} \operatorname{arctg} \frac{\beta(\xi)}{a^2 |\xi|^2 + \alpha(\xi)}. \quad (5)$$

Thus, the general solution of Eq. (2) has the form

$$\widehat{u}(\xi, t) = C_1(\xi) e^{i t \rho(\xi) [\cos \varphi(\xi) + i \sin \varphi(\xi)]} + C_2(\xi) e^{-i t \rho(\xi) [\cos \varphi(\xi) + i \sin \varphi(\xi)]},$$

where $C_1(\xi)$ and $C_2(\xi)$ are arbitrary constants depending on the parameter ξ ; to determine these constants, we substitute the function $\widehat{u}(\xi, t)$ into the initial conditions (3). From the system

$$\begin{cases} C_1(\xi) + C_2(\xi) = 0, \\ C_1(\xi) - C_2(\xi) = (i \rho(\xi) [\cos \varphi(\xi) + i \sin \varphi(\xi)])^{-1}, \end{cases}$$

we find the values of these constants,

$$C_1(\xi) = \frac{e^{-i \varphi(\xi)}}{2i \rho(\xi)}, \quad C_2(\xi) = -\frac{e^{-i \varphi(\xi)}}{2i \rho(\xi)}.$$

As a result, the solution of problem (2), (3) is given by the formula

$$\begin{aligned} \widehat{u}(\xi, t) &= \frac{e^{-i \varphi(\xi)}}{2i \rho(\xi)} \left[e^{i t \rho(\xi) [\cos \varphi(\xi) + i \sin \varphi(\xi)]} - e^{-i t \rho(\xi) [\cos \varphi(\xi) + i \sin \varphi(\xi)]} \right] = \\ &= \frac{e^{-i \varphi(\xi)}}{2i \rho(\xi)} \left[e^{-t \rho(\xi) \sin \varphi(\xi)} e^{i t \rho(\xi) \cos \varphi(\xi)} - e^{t \rho(\xi) \sin \varphi(\xi)} e^{-i t \rho(\xi) \cos \varphi(\xi)} \right] = \\ &= \frac{1}{2i \rho(\xi)} \left[e^{-t \rho(\xi) \sin \varphi(\xi)} e^{i (t \rho(\xi) \cos \varphi(\xi) - \varphi(\xi))} - e^{t \rho(\xi) \sin \varphi(\xi)} e^{-i (t \rho(\xi) \cos \varphi(\xi) + \varphi(\xi))} \right] = \\ &= \frac{1}{2i \rho(\xi)} \left[e^{-t G_1(\xi)} e^{i (t G_2(\xi) - \varphi(\xi))} - e^{t G_1(\xi)} e^{-i (t G_2(\xi) + \varphi(\xi))} \right], \quad (6) \end{aligned}$$

where we use the notation

$$G_1(\xi) := \rho(\xi) \sin \varphi(\xi), \quad G_2(\xi) := \rho(\xi) \cos \varphi(\xi). \quad (7)$$

Now we formally apply the inverse Fourier transform F_ξ^{-1} to relation (6) and obtain

$$\begin{aligned} u(x, t) &= \frac{1}{(2\pi)^n} \int_{\mathbb{R}^n} \frac{1}{2i \rho(\xi)} \left[e^{-t G_1(\xi)} e^{i(t G_2(\xi) - \varphi(\xi))} - e^{t G_1(\xi)} e^{-i(t G_2(\xi) + \varphi(\xi))} \right] e^{-ix \cdot \xi} d\xi = \\ &= \frac{1}{2i(2\pi)^n} \int_{\mathbb{R}^n} \frac{1}{\rho(\xi)} \left[e^{-t G_1(\xi)} e^{i(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)} - e^{t G_1(\xi)} e^{-i(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)} \right] d\xi. \end{aligned}$$

Since the functions $\alpha(\xi)$, $\rho(\xi)$, and $G_2(\xi)$ are even and the functions $\beta(\xi)$, $\varphi(\xi)$, and $G_1(\xi)$ are odd in each of the variables ξ_j , we transform the last expression as follows:

$$\begin{aligned} &\frac{1}{2i(2\pi)^n} \int_{\mathbb{R}^n} \frac{1}{\rho(\xi)} \left[e^{-t G_1(\xi)} e^{i(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)} - e^{t G_1(\xi)} e^{-i(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)} \right] d\xi = \\ &= \frac{1}{2i(2\pi)^n} \left[\int_{\mathbb{R}_-^n} \frac{1}{\rho(\xi)} \left[e^{-t G_1(\xi)} e^{i(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)} - e^{t G_1(\xi)} e^{-i(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)} \right] d\xi + \right. \\ &\quad \left. \int_{\mathbb{R}_+^n} \frac{1}{\rho(\xi)} \left[e^{-t G_1(\xi)} e^{i(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)} - e^{t G_1(\xi)} e^{-i(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)} \right] d\xi \right] = \\ &= \frac{1}{2i(2\pi)^n} \left[\int_{\mathbb{R}_+^n} \frac{1}{\rho(\xi)} \left[e^{t G_1(\xi)} e^{i(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)} - e^{-t G_1(\xi)} e^{-i(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)} \right] d\xi + \right. \\ &\quad \left. \int_{\mathbb{R}_+^n} \frac{1}{\rho(\xi)} \left[e^{-t G_1(\xi)} e^{i(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)} - e^{t G_1(\xi)} e^{-i(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)} \right] d\xi \right] = \\ &= \frac{1}{2i(2\pi)^n} \int_{\mathbb{R}_+^n} \frac{1}{\rho(\xi)} \left[2i e^{t G_1(\xi)} \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + \right. \\ &\quad \left. 2i e^{-t G_1(\xi)} \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) \right] d\xi = \\ &= \frac{1}{(2\pi)^n} \int_{\mathbb{R}_+^n} \frac{1}{\rho(\xi)} \left[e^{t G_1(\xi)} \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + e^{-t G_1(\xi)} \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) \right] d\xi. \end{aligned}$$

We use the resulting representation to prove the following assertion.

3 Existence of Smooth Solutions of the Equation (1)

Theorem 1 *Under condition*

$$a^2|\xi|^2 + \sum_{j=1}^n b_j \cos(h_j \xi_j) > 0, \quad (8)$$

for all $\xi \in \mathbb{R}^n$, the functions

$$F(x, t; \xi) := e^{t G_1(\xi)} \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi), \quad (9)$$

$$H(x, t; \xi) := e^{-t G_1(\xi)} \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi), \quad (10)$$

where $\varphi(\xi)$ is determined by formula (5) and $G_1(\xi)$ and $G_2(\xi)$ are determined by relations (7), satisfy Eq. (1) in the classical sense.

Proof First, let us substitute the function (9) directly into Eq. (1). To this end, we find the derivatives

$$F_{x_j}(x, t; \xi) = \xi_j e^{t G_1(\xi)} \cos(t G_2(\xi) + \varphi(\xi) + x \cdot \xi),$$

$$F_{x_j x_j}(x, t; \xi) = -\xi_j^2 e^{t G_1(\xi)} \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi),$$

$$F_t(x, t; \xi) = G_1(\xi) e^{t G_1(\xi)} \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + \\ + G_2(\xi) e^{t G_1(\xi)} \cos(t G_2(\xi) + \varphi(\xi) + x \cdot \xi),$$

$$F_{tt}(x, t; \xi) = [G_1^2(\xi) - G_2^2(\xi)] e^{t G_1(\xi)} \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + \\ + 2G_1(\xi)G_2(\xi) e^{t G_1(\xi)} \cos(t G_2(\xi) + \varphi(\xi) + x \cdot \xi).$$

Now let us evaluate the expressions $2G_1(\xi)G_2(\xi)$ and $G_1^2(\xi) - G_2^2(\xi)$. Since $G_1(\xi)$ and $G_2(\xi)$ are defined in (7), we conclude that

$$2G_1(\xi)G_2(\xi) = \rho^2(\xi) \sin 2\varphi(\xi).$$

It follows from formula (5) that $|2\varphi(\xi)| < \pi/2$ and hence $\cos 2\varphi(\xi) > 0$. Then we have

$$\begin{aligned}
\sin 2\varphi(\xi) &= \frac{\operatorname{tg} 2\varphi(\xi)}{\sqrt{1 + \operatorname{tg}^2 2\varphi(\xi)}} = \\
&= \operatorname{tg} \left(\operatorname{arctg} \frac{\beta(\xi)}{a^2|\xi|^2 + \alpha(\xi)} \right) \left[1 + \operatorname{tg}^2 \left(\operatorname{arctg} \frac{\beta(\xi)}{a^2|\xi|^2 + \alpha(\xi)} \right) \right]^{-1/2} = \\
&= \frac{\beta(\xi)}{a^2|\xi|^2 + \alpha(\xi)} \left[1 + \frac{\beta^2(\xi)}{(a^2|\xi|^2 + \alpha(\xi))^2} \right]^{-1/2} = \\
&= \frac{\beta(\xi)}{a^2|\xi|^2 + \alpha(\xi)} \left[\frac{(a^2|\xi|^2 + \alpha(\xi))^2}{(a^2|\xi|^2 + \alpha(\xi))^2 + \beta^2(\xi)} \right]^{1/2} = \\
&= \frac{\beta(\xi)}{a^2|\xi|^2 + \alpha(\xi)} \frac{|a^2|\xi|^2 + \alpha(\xi)|}{\rho^2(\xi)}.
\end{aligned}$$

By virtue of condition (8), from the last relation we obtain

$$\sin 2\varphi(\xi) = \frac{\beta(\xi)}{a^2|\xi|^2 + \alpha(\xi)} \frac{a^2|\xi|^2 + \alpha(\xi)}{\rho^2(\xi)} = \frac{\beta(\xi)}{\rho^2(\xi)},$$

and hence

$$2G_1(\xi)G_2(\xi) = \beta(\xi). \quad (11)$$

With the inequality $\cos 2\varphi(\xi) > 0$ established above and under condition (8), now we find

$$\begin{aligned}
G_1^2(\xi) - G_2^2(\xi) &= \rho^2(\xi) [\sin^2 \varphi(\xi) - \cos^2 \varphi(\xi)] = \\
&= -\rho^2(\xi) \cos 2\varphi(\xi) = -\frac{\rho^2(\xi)}{\sqrt{1 + \operatorname{tg}^2 2\varphi(\xi)}} = \\
&= -\rho^2(\xi) \left[\frac{(a^2|\xi|^2 + \alpha(\xi))^2}{(a^2|\xi|^2 + \alpha(\xi))^2 + \beta^2(\xi)} \right]^{1/2} = -a^2|\xi|^2 - \alpha(\xi).
\end{aligned} \quad (12)$$

In view of the expressions (11) and (12), the function F_{tt} becomes

$$\begin{aligned}
F_{tt}(x, t; \xi) &= [-(a^2|\xi|^2 + \alpha(\xi)) \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + \\
&\quad + \beta(\xi) \cos(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)] e^{t G_1(\xi)}.
\end{aligned}$$

Now let us substitute the derivatives \tilde{F}_{tt} and $\tilde{F}_{x_j x_j}$ into Eq. (1),

$$\begin{aligned}
& F_{tt}(x, t; \xi) - a^2 \sum_{j=1}^n F_{x_j x_j}(x, t; \xi) = \\
& = [-(a^2 |\xi|^2 + \alpha(\xi)) \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + \\
& \quad + \beta \cos(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + \\
& \quad + a^2 \sum_{j=1}^n \xi_j^2 \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)] e^{t G_1(\xi)} = \\
& = -[\alpha(\xi) \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) - \\
& \quad - \beta(\xi) \cos(t G_2(\xi) + \varphi(\xi) + x \cdot \xi)] e^{t G_1(\xi)} = \\
& = - \left[\sum_{j=1}^n b_j \cos(h_j \xi_j) \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) - \right. \\
& \quad \left. - \sum_{j=1}^n b_j \sin(h_j \xi_j) \cos(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) \right] e^{t G_1(\xi)} = \\
& = - \sum_{j=1}^n b_j \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi - h_j \xi_j) e^{t G_1(\xi)} = \\
& = - \sum_{j=1}^n b_j \sin(t G_2(\xi) + \varphi(\xi) + x_1 \xi_1 + \cdots + x_n \xi_n - h_j \xi_j) e^{t G_1(\xi)} = \\
& = - \sum_{j=1}^n b_j \sin(t G_2(\xi) + \varphi(\xi) + x_1 \xi_1 + \cdots + x_{j-1} \xi_{j-1} + \\
& \quad + (x_j - h_j) \xi_j + x_{j+1} \xi_{j+1} + \cdots + x_n \xi_n) e^{t G_1(\xi)} = \\
& = - \sum_{j=1}^n b_j \sin(t G_2(\xi) + \varphi(\xi) + \\
& \quad + (x_1, \dots, x_{j-1}, x_j - h_j, x_{j+1}, \dots, x_n) \cdot \xi) e^{t G_1(\xi)} = \\
& = - \sum_{j=1}^n b_j F(x_1, \dots, x_{j-1}, x_j - h_j, x_{j+1}, \dots, x_n, t; \xi).
\end{aligned}$$

Next, let us substitute the function (10) into Eq. (1). To this end, we find the derivatives

$$H_{x_j}(x, t; \xi) = -\xi_j e^{-t G_1(\xi)} \cos(t G_2(\xi) - \varphi(\xi) - x \cdot \xi),$$

$$H_{x_j x_j}(x, t; \xi) = -\xi_j^2 e^{-t G_1(\xi)} \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi),$$

$$\begin{aligned}
H_t(x, t; \xi) &= -G_1(\xi) e^{-t G_1(\xi)} \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) + \\
&+ G_2(\xi) e^{-t G_1(\xi)} \cos(t G_2(\xi) - \varphi(\xi) - x \cdot \xi),
\end{aligned}$$

$$\begin{aligned}
H_{tt}(x, t; \xi) &= [G_1^2(\xi) - G_2^2(\xi)] e^{-t G_1(\xi)} \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) - \\
&\quad - 2G_1(\xi)G_2(\xi)e^{-t G_1(\xi)} \cos(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) = \\
&= [-(a^2|\xi|^2 + \alpha(\xi)) \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) - \\
&\quad - \beta(\xi) \cos(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)] e^{-t G_1(\xi)}.
\end{aligned}$$

Now let us substitute the derivatives H_{tt} and $H_{x_j x_j}$ into Eq. (1),

$$\begin{aligned}
&H_{tt}(x, t; \xi) - a^2 \sum_{j=1}^n H_{x_j x_j}(x, t; \xi) = \\
&= [-(a^2|\xi|^2 + \alpha(\xi)) \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) - \\
&\quad - \beta(\xi) \cos(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) + \\
&\quad + a^2 \sum_{j=1}^n \xi_j^2 \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)] e^{-t G_1(\xi)} = \\
&= -[\alpha(\xi) \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) + \\
&\quad + \beta(\xi) \cos(t G_2(\xi) - \varphi(\xi) - x \cdot \xi)] e^{-t G_1(\xi)} = \\
&= - \left[\sum_{j=1}^n b_j \cos(h_j \xi_j) \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) + \right. \\
&\quad \left. + \sum_{j=1}^n b_j \sin(h_j \xi_j) \cos(t G_2(\xi) - \varphi(\xi) - x \cdot \xi) \right] e^{-t G_1(\xi)} = \\
&= - \sum_{j=1}^n b_j \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi + h_j \xi_j) e^{-t G_1(\xi)} = \\
&= - \sum_{j=1}^n b_j \sin(t G_2(\xi) - \varphi(\xi) - x_1 \xi_1 - \dots - x_n \xi_n + h_j \xi_j) e^{-t G_1(\xi)} = \\
&= - \sum_{j=1}^n b_j \sin(t G_2(\xi) - \varphi(\xi) - x_1 \xi_1 - \dots - x_{j-1} \xi_{j-1} - \\
&\quad - (x_j - h_j) \xi_j - x_{j+1} \xi_{j+1} - \dots - x_n \xi_n) e^{-t G_1(\xi)} = \\
&= - \sum_{j=1}^n b_j \sin(t G_2(\xi) - \varphi(\xi) - \\
&\quad + (x_1, \dots, x_{j-1}, x_j - h_j, x_{j+1}, \dots, x_n) \cdot \xi) e^{-t G_1(\xi)} = \\
&= - \sum_{j=1}^n b_j H(x_1, \dots, x_{j-1}, x_j - h_j, x_{j+1}, \dots, x_n, t; \xi).
\end{aligned}$$

A straightforward substitution into Eq. (1) shows that the function $H(x, t; \xi)$ satisfies this equation in the classical sense.

Note that the functions (4) and (5) are well defined for any $\xi \in \mathbb{R}^n$ under condition (8), because the radicand in formula (4) is always positive, and the denominator in the argument of the arctangent in (5) does not vanish. This means that the functions (9) and (10) are smooth solutions of the Eq. (1).

The proof of the theorem is complete.

Corollary 1 *Under condition (8), the family of functions*

$$G(x, t; A, B, \xi) := A e^{t G_1(\xi)} \sin(t G_2(\xi) + \varphi(\xi) + x \cdot \xi) + B e^{-t G_1(\xi)} \sin(t G_2(\xi) - \varphi(\xi) - x \cdot \xi), \quad (13)$$

where $\varphi(\xi)$ is given by (5) and $G_1(\xi)$ and $G_2(\xi)$ are given by (7), satisfies Eq. (1) in the classical sense for any real values of the parameters A , B , and ξ .

We represent the condition (8) in the form

$$(a^2 \xi_1^2 + b_1 \cos(h_1 \xi_1)) + \dots + (a^2 \xi_n^2 + b_n \cos(h_n \xi_n)) > 0.$$

Each of the n terms on the left side of this inequality will be positive if the conditions

$$0 < b_j h_j^2 \leq 2a^2, \quad j = \overline{1, n}.$$

For $\xi = \vec{0}$ the condition (8) will be satisfied if the coefficients at the nonlocal potentials satisfy the inequality

$$\sum_{j=1}^n b_j > 0.$$

Condition (8), holds for any shifts h_1, \dots, h_n and any values ξ_1, \dots, ξ_n if the coefficients and the shifts of the equation satisfy the conditions

$$\sum_{j=1}^n b_j > 0, \quad 0 < b_j h_j^2 \leq 2a^2, \quad j = \overline{1, n}.$$

These conditions are sufficient conditions that ensure the existence of a family of smooth solutions (13) to Eq. (1).

References

1. Skubachevskii AL (1997) Elliptic functional differential equations and applications. Birkhäuser, Basel-Boston-Berlin
2. Skubachevskii AL (2016) Boundary-value problems for elliptic functional-differential equations and their applications. Russ Math Surv 71(5):801–906. <https://doi.org/10.1070/RM9739>
3. Muravnik AB (2020) Elliptic differential-difference equations in the half-space. Math Notes 108(5):727–732. <https://doi.org/10.4213/mzm12737>
4. Muravnik AB (2021) Elliptic differential-difference equations of general form in a half-space. Math Notes 110(1):92–99. <https://doi.org/10.1134/S0001434622030270>
5. Muravnik AB (2021) Elliptic differential-difference equations with differently directed translations in half-spaces. Ufa Math J 13(3):104–112. <https://doi.org/10.13108/2021-13-3-104>
6. Muravnik AB (2016) Functional differential parabolic equations: integral transformations and qualitative properties of solutions of the Cauchy problem. J Math Sci 216(3):345–496. <https://doi.org/10.1007/s10958-016-2904-0>
7. Vlasov VV, Medvedev DA (2010) Functional-differential equations in Sobolev spaces and related problems of spectral theory. J Math Sci 164(5):659–841. <https://doi.org/10.1007/s10958-010-9768-5>
8. Zaitseva NV (2021) Classical solutions of hyperbolic equations with nonlocal potentials. Dokl Math 103(3):127–129. <https://doi.org/10.1134/S1064562421030157>
9. Zaitseva NV (2021) Hyperbolic differential-difference equations with nonlocal potentials. Ufa Math. J. 13(3):36–43. <https://doi.org/10.13108/2021-13-3-36>
10. Zaitseva NV (2021) Classical solutions of hyperbolic differential-difference equations in a half-space. Differ Equ 57(12):1629–1639. <https://doi.org/10.1134/S0012266121120090>
11. Gel'fand IM, Shilov GE (1953) Fourier transforms of rapidly growing functions and questions of uniqueness of the solution of the Cauchy problem. Usp Mat Nauk 8(6)(58):3–54
12. Vladimirov VS (1981) Uravneniya matematicheskoi fiziki (Equations of mathematical physics). Nauka, Moscow